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Candidate must write first his / her Roll No. on the question paper compulsorily.

(2) afy g R AFER T |

All the questions are compulsory.

3) .@mwﬂﬂﬂﬂém-g%mﬁa%én

R

Write the answer to each question in the given answer-book only.

[ Turn over

| §S-14-Geog-



4)

(5)

(6)

(7)

(8)

9)

2
57 et 4 safe @vs g, mmﬁ%wwma%@l

For questions having more than one part, the answers tq those parts are to be

written together in continuity.
- W%%ﬁaaﬁwﬂ%ﬁmaﬁg&/m/ﬁmﬁmﬁ
THT T ! GE A | |

If there is any error / difference / contradiction in Hindi & English versions of the
question paper, the question of Hindi version should be treated valid,

I 1 I fore g We 61 shHTeh 37 ford |

Write down the serial number of the question before attempting it.
Sl T 37k W e R |

Weightage of marks for the question is as follows,.

@giE | yEdrEEn T 3 R
WIS-3(A) | 1(itox),2t011 Jjo§,520 1 20
"
Gus-9 (B) 12 to 15° %i“t 4 2 8
"515‘5 )
gue-4 (C) 16 to 19 i g it 12
@us-¢ (D) 20 to 21 2 4 8
@ug-3 (E) 22 to 23 2 4 8

I SHATER 20 ¥ 21 A e ¥ Haftd 8 3T TS 4 JH F1R |
Question No. 20-21 are related to map-work carrying 4 marks each.
ferger, T S TSI S5 STeTee] ST T Xl A 1 Se-gfdrem 3 ey ooy 2 |

Attach the given outline maps of World, India and Rajasthan with the ans
wer-
book.
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SECTION — A
1. ﬁﬁ%f@ﬁwﬁ%m%f@q—(iﬁxam):

Write the answer of following multiple choice questions (From i to x) in the given

answer book.
(i) mﬁaﬁﬁmm%aﬁaﬁmmwﬁukwﬁaﬁmaﬁ ?
(3) 7 . (m) 9ud
(|) 1099 (g) 1199
What is the age of persons, counted in literacy assessment ? - 1
(A) 7 years (B) 9 years
(C) 10 years (D) 11 years
(i) E-ToTd I U a9 2 ‘
(37) wrafies sgaE™ (7) fedtoes seam
(") qeraeh qaE ™ (3) =g Faq™
Iron-steel Industry is an occupation of 1
(A) Primary occupation (B) Secondary occupation
(C) Tertiary occupation (D) Quaternary occupation
(iii) mawmﬁ% Hﬁwﬁlﬂ;mﬁwﬁwi#ﬁ‘&ﬁﬁ?iﬁmﬁ
e ?
(37) FARIFIST el
COMERE e
The amount of which gas dsing m the environment due to more and
more use of Refriget § Air conditioners ? 1
(A) Chlorofluoro citbon (B) Carbon dioxide
(C) Methane (D) Nitrous oxide

(iv) W = 2011 i SRToET § Hatfies o <A SEEe 91t TSEl 1 Siel 8
(31) foER — v wem (%) forgm — 3w
() SRS — JETEA WY (2) e S — i
The pair of states in India having highest and lowest density of population

in census of 2011 - 1
(A) Bihar — Arunachal Pradesh

(B) Bihar — Assam
(C) Jharkhand — Arunachal Pradesh

(D) West Bengal — Kerala

[ Turn over
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(v) fmn =1 9o i fes waedd war 2 o

(31) feeet ' (9) Beueg
(|) g (]) RIcthre
Where is the first green field airport of Asia ?
(A) Delhi (B) Hyderabad
(C) Mumbai (D) Kolkata
(vi) TSTEIH & HET Yo i W TRAS R € 2 ¢
(31) = g (&) 3T meft wiEiemn

(@) WTEl SO AR AT (7)o ot

Which is the joint project of Rajasthan and Madhya Pradesh ?
(A) Chambal Project (B) Indira Gandhi Project
(C) Mahi Bajaj Sagar Project (D) Vyas Project

(vii) TSR | &1 (SEZ) ht STt fohershs frpma g i s 2 7
(37) e fowm (=) B o

(w) iEe fompm () e frebrm
The SEZ in Rajasthan was establishq'd';ﬁp‘ﬁevelop -
(A) Industrial development

(B) Agricultural development

(C) Transportation deyelopment

(D) Educational devélopment

(vili) “TRN-SITR Jeeeh o TR S 7

(31) Yoo | () Rremr-ger—sem

(%) T Horer (@ W

Who is the writer of “Anthropogeography” ¢

(A) Ratzel (B) Vidal-de-la-Blache

(C) Ellen Sample - (D) Huntington

(ix) “Tiis” Ireg 1 31 B

The weord “Gond” is concerned with -

(A} TERE (B) Colg

(C) Hill D) Deser
SS_14—Geog.
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(x) m@m%%@rwﬂwmﬁ*ﬁﬂﬁ:ﬁ ?

(31) TSTEEg (9) HHTHAT

() e (q) forerrre

Which place of Rajasthan is world famous for marble ?
(A) Rajsamand (B) Makrana

(C) Jalore (D) Kishangarh

I ST < =T ferfan fraest gey «<Rmmar o g 42 |

Write the name of the tribe concerned with “Chimata” and “Dazia”. 1

“OIRUTIRT” T & T SHHT T T % Fra 87 8 8 ?
What is “Tharparkar” and which region of Rajasthan is related with it ? %2+ =1

ol rfor e s 35 o < s Y et & 7

The Golden Quadrilateral Project connects which four metropolitan cities of

India ? Yax4=1
femaTa feprem =1 g3 feafae |
Write the formula to calculate sex-ratio. 1

srfon vt o i v e s gﬂ fredfB et

In which geographical areas do %hefrar fent arrow pattern develop ? 1
2Y rerfires S|l o AW 1
" Write name of any two primary occupations. B+¥%=1

R s e T G i Tee s e % i R v R g o

In which district of Rajasthan has the largest ever in Asia super zinc smelter plant

been set up ? 1

o e 9 117 o T oY g e gu Ser-gfenn § fafee -

Fill in the blanks of questions no. 9 to 11 in the given answer book.

q\aﬁwﬁeﬁmﬁaﬁﬂwﬂaﬁﬁ FAHY AR |

Shifting agriculture, practiced in the eastern states in India, is known as 1
[ Turn over
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15.
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Both high birth and death rate are found in the stage of demographic

transition.

TfERHl ST G ST TS A A Ch YR A wmerdt 2 |

Boat made from skin and used by Eskimos is called

Gig -9
SECTION - B

wﬁ@ﬁrﬁaHWWHWﬁwug@mﬁzﬁwm%m

Write the name of four major aluminium producing companies in India,

wmﬂkﬂ#@ﬂ?%%Eﬁfﬁmmﬁﬁ4;ﬁ%wmammm|

Write any two Socio-Economj._c,_:‘-*ansequences of population growth.

gferd I g R - |
e OV g e

(31) I STiER I) v

(F) FeierE (II) ==

(@) ot smbier (1) Sew
(%) smeferm (V) JegE

Match the following and rewrite in answer book -
Country Grasslands

(A) North America (I) Pampas

(B) Argentina (I) Prairies

(C) South Africa (IIT) Downs

(D) Australia (IV) Welds

mﬁm%mﬁm&?@%mmmw‘l

re

§S-14-Geog:

1

l/2>(4=2

1+1=2

Vax4=2

_}is' .



Mo

7

g - |
SECTION -C
16. 8 wh vt (<frfh) TR 1 HREE A AR § 12 309 36 G2 J 56 3w b
TR % -1 & e W o 0 o) weimg 37 7
“I want to set up a sugar industry.” In this context, what will be your suggestions
to consider the localization factors of this industry ? 3
UG/ OR
forelt & % gaTs 7 Y e B A R |mmwwmwﬁﬁ
ERIELS
An airport is to be developed in an area. Write any three favourable conditions for
this. ' 1x3=3
17. Wﬁﬁwm@%%?ﬁ?wm l
What factors are responsible for the lowering sex-ratio in India ? 1x3=3
JYEr/OR
s s o 4 P et e e ,%gﬁwﬁﬁm |
Review the three physical factors U‘%co};m; u at?on distribution in Indla 1x3=3
18. 3T 99t o ofH TS FATET |
Write three effects of Acid rain. ' A X3=3
AYST/OR ‘
e g § BN aTeft o g s | |
Write three harmful effects of soil pollution. 1x3=3
o, et 3 frer AT oeftor axferarert % foheet ot wicwedl bt e H ST |
Explain, in brief, any three pattern of rural settlement in India. 1x3=3
AYAT/OR
ey SrferaE i e e STy |
Mention three problems of urban settlements. 1x3=3
SS-14-Geog. [ Turn over




8 »

s - g
SECTION - D
20. ﬁqmﬁw%%@mﬁaﬁﬁwﬁﬁsﬁg—mm%@ﬁwﬁﬁﬁm
(i) T | (i) et
(iii) ek (iv) =TS

On the given outline map of the World mark the location of the following Iron-
Steel producing areas :

(i) Chicago (ii) Johannesburg
(iii) Magnitogorsk (iv) Shanghai . 1x4=4
" IYET/OR
few e foar = Y wmfem # frerifeha we S aret <ut @ qutse .
(i) TfeRE™ (i) #feehr
(iii) eATEH (iv). “9re
Mark the location of the following densely populated countries on the given
outline map of the World : o
(i) Pakistan (i) SriLanka
(iii) Bangladesh (iv). Nepal o
21. (3) feu e v < v wte § Feitha < sem 5t 5 gatze .
() =& o) g
(iii) T . & (iv) Bmmm

On the given outline-map of India mark the locatiop of

the i
Industry Centres : following Sugar

(i) Bundi (i) Surat
(iii) Gaya (iv) Shimoga
J1¥ET/OR “x4=2
mmw%%@mﬁaﬁﬁwmwmaﬁﬁﬁas :
(i) fiearer (i) =gy '
(iii) I (iv) SRR
On the given outline map of India mark the lo
textile centres : cation of the following cotton
(i) Bhilwara . (i1) Vadodary
(iii) Coimbatore (iv) Varanag;
SS-14-G¢0%: AT
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() ﬁqmm%}@mﬁaﬂﬁmmaﬁammmﬁﬁﬁhaﬁm
(i) SHg (i) i
(iii) 3mR (iv) IAL
Mark the location of the following districts with minerals reserve on the
given outline map of Rajasthan : '

(i) Jodhpur . (ii) Sikar
(iii) Ajmer (iv) Udaipur YVixd4=2
91/ OR

few e Trsteer % Y afi # Praeifea fet @t quisy :
(i) SR (i) el
(iii) TeTEwE (iv) Tdtems
Mark the location of the following districts on the given outline map of
Rajasthan :
(i) Jalore (ii) Pali

- (ili) Rajsamand (iv) Chittorgarh “ixd4=2

g ig—-9 -

SECTION - E ga ﬂ@%

22. WG i 3 fare 8 % W@ Tegai i i foe

Describe, in brief, the main aspects.C "{55
sear/oR  )F

TfERHT e w1 quid fEgER

(i) Tramwam

(i) e

(iii) STeTeror FETRISH

Describe “Eskimos Tribe” as following :

(i) Habitat

(ii) Hunting : i
(iii) Environmental Adjustment | 1+2+1=4

219a1/OR
rﬁgmﬁ,-ﬂﬁqﬁ@aﬁ%mmaﬂhiﬁ\ﬁqz
(i) Tramm &
(i) TG o SSH
(iii) mgﬁm'ﬂw

Describe “Gond Tribe” as following :

El)) Habitat -
11) Hunting and r'0 1+2+1=4
(iii) Impact of Modernization [ Turn over
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23. = ARSI 1 9 frefeied fagatt 3 smam w i -
(i) uf=E= .
Gi) =Y
Qn the basis of the following factors describe the Chambal project :
(i) Introduction
(i) Dams |
o - SEi/OR 4 1+3=4
rereer # wife vei 1 Frer fargat 3 s e R it
(i) TR R
(i) I hR
(iii) 3= % st fepme o smemd

Analyse cement industry in Rajasthan on the bams of the following points :

(i) Localisation factors &

(ii) Centres of the industry _

(iii) Problems in rapid growth of the mdustry 1495 =
FYAT/OR | - =4

TR H TR S m—q*u’h ﬁmaa'r{ Hifvr ;

(i) Trame e 9@

(i) @R SiteA ' ),

(iii) 3T ;

Describe “Garasiya Tribe” in Rajasthan as following :

(i) Habitat

(ii) Social life

(iii) Economy
1+2+1=4

SS-14-Ge0&
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Yiet (GEOGRAPHY)

- I weafieR e, 2021

Outline Mép of the World
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Roll No.

W (GEOGRAPHY)

I HILHHR TOa, 2021

Outline Map of India
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Outline Map of Rajasthan
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